İ	
1	
2	BILL NO. S-16-11-20 SPECIAL ORDINANCE NO. S-
3	AN ORDINANCE approving CONSTRUCTION
4	CONTRACT - BLUFFTON ROAD SIDEWALK
5	IMPROVEMENTS - RESOLUTION #0172N - \$200,001.50 between HIPSKIND CONCRETE
6	and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.
7	NOW, THEREFORE, BE IT ORDAINED BY THE COMMON
8	
9	COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:
10	SECTION 1. That the CONSTRUCTION CONTRACT -
11	BLUFFTON ROAD SIDEWALK IMPROVEMENTS - RESOLUTION #0172N -
12	\$200,001.50 by and between HIPSKIND CONCRETE and the City of Fort
13	Wayne, Indiana, in connection with the Board of Public Works, is hereby
14	ratified, and affirmed and approved in all respects, respectfully for:
15	
16	All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for
17	construction of a 5 feet wide concrete sidewalk and ADA ramps from 338 feet north of Lower Huntington Road to 788
18	feet south of Old Trail on the west side of Bluffton Road.
19	Contractor will be filling in the gaps between existing sidewalks.:
20	involving a total cost of TWO HUNDRED THOUSAND, ONE AND 50/100
21	DOLLARS -(\$200,001.50). A copy of said Contract is on file with the Office of
22	the City Clerk and made available for public inspection, according to law.
23	
24	
25	
26	
27	
28	1
29	

1	,
2	SECTION 2. That this Ordinance shall be in full force and effect
3	from and after its passage and any and all necessary approval by the Mayor.
4	
5	
6	
7	Council Member
8	APPROVED AS TO FORM AND LEGALITY
9	A THOUSE HOLD TO TOTAL THE SECOND TO THE SEC
10	•
11	Carol Helton, City Attorney
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	

AWARD: Resolution 0172N/Work Order 0172N

Bluffton Road Sidewalk to:

Hipskind Concrete in the Amount of \$200,001.50

CITY OF FORT WAYNE
BOARD OF PUBLIC WORKS

DATE:

Robert Kennedy, Chair

Mike Avila, Member

Kumar Menon, Member

Attest:

Lyndsey L. Richards

		Form 96 Non-Collusion Af Cert In Lieu/Fina. Bidder's Bond Street Barricade EBE Declaration E-Verify Affidavit Drug Policy Addendum No. 1 Addendum No. 2	ncial Statement Maint Info Form	TOTAL:	\$240,892.00		d column X X X X X X X X X X X		X X X X X X X X X
						% over % under		% over % under	0.42% 0.00%
Bid T	abulation Bluffton Road Sidewalk-From Waynewood Drive to South of				T-1				
proj: Bid	Old Trail Road	<u></u>	RES. NO.: W.O. NO.:	0172N 0172N	7000000	BIDDER:	Hipskind Concrete	BIDDER:	Malott Contracting
Date: ITEM NO.	11/09/16 ITEM	PLAN _ QTY	UNIT	UNIT COST Est (\$)	AMOUNT Est (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST	AMOUNT (\$)
	Mobilization and Demobilization	1	LS	\$8,500.00	\$8,500.00		\$38,701.00		7
2	Clearing and Grubbing	1	LS	\$8,500.00	\$8,500.00	\$4,150.00	\$4,150.00	\$1,656.00	\$1,656.00
3	Video Documentation of Conditions	11	LS	\$500,00	\$500.00	\$450.00	\$450,00	\$1,100.00	\$1,100.00
4	Concrete Curb, Remove	355	<u>LF</u>	\$12.00	\$4,260.00	\$10.00	\$3,550.00	\$13.50	\$4,792.50
5	Concrete Walk Remove	51	SY	\$15,00	\$765.00	\$10.00	\$510.00	\$26.50	\$1,351.50
6	Concrete Headwall Remove	11	EA	\$500.00	\$500.00	\$800.00	\$800.00	\$365,00	\$365.00
7	Concrete Curb, Type III	128	LF_	\$37,00	\$4,736.00	\$20.00	\$2,560.00	\$31.00	\$3,968.00
8	Concrete Sidewalk, 4"	1169	SY	\$60.00	\$70,140.00	\$30.00	\$35,070.00	\$45.00	\$52,605.00
9	Concrete Sidewalk, 8"	288	SY	\$85,00	\$24,480.00	\$45.00	\$12,960.00	\$67.00	\$19,296.00
10	Asphalt Pavement Remove	288	SY	\$12.00	\$3,456.00	\$10.00	\$2,880.00	\$26.25	\$7,560.00
11	Sidewalk Trench	3	<u>EA</u>	\$900,00	\$2,700.00	\$1,200.00	\$3,600.00	\$1,642,00	\$4,926.00
12	Surface Milling	288	SY	\$12.00	\$3,456.00	\$10.00	\$2,880.00	\$25.40	\$7,315.20
13	ADA Curb Ramps	54	SY	\$210.00	\$11,340.00	\$110.00			\$5,130.00
14	Common Excavation	174.5	CY	\$15.00	\$2,617 <u>.5</u> 0	\$45.00	\$7,852.50	\$60.00	
	Casting, Adjust to Grade	11	EA_	\$650,00	\$650.00				
16	Water Curb Stop, Adjust To Grade	22	EA	\$450.00	\$900.00				
17	Remove and Reset Sign	3	EA	\$150.00			\$1,350.00	\$1,322.50	\$3,967.50
18	Relocate Guy Anchors	2	<u>EA</u>	\$1,500.00	\$3,000.00	\$450.00	\$900.00	\$1,170.00	\$2,340.00

proj: Bid Date:	Bluffton Road Sidewalk-From Waynewood Drive to South of Old Trail Road		RES. NO.: W.O. NO.:	0172N 0172N estimate		BIDDER:	Hipskind Concrete	BIDDER:	Malott Contracting
19	Relocate Mail Box	1	EA	\$200.00	\$200.00	\$400.00	\$400.00	\$138.00	\$138.00
20	Precast 30" Round Inlet	1	EA	\$1,300,00	\$1,300.00	\$4,000.00	\$4,000.00	\$2,130.00	\$2,130.00
21	48" Storm Manhole	1	EA	\$4,000,00	\$4,000.00	\$7,500.00	\$7,500.00	\$3,330.00	\$3,330.00
22	Slab Frame Grate Casting	11	EA	\$600,00	\$600.00	\$1,000.00	\$1,000.00	\$2,760.00	\$2,760.00
23	24" Solid Storm Casting	1	EA_	\$600,00	\$600.00	\$450.00	\$450.00	\$462,00	\$462.00
24	12" RCP Pipe	18	LF	\$40,00	\$720.00	\$100.00	\$1,800.00	\$93,50	\$1,683.00
25	12" End Section	11	EA	\$300.00	\$300.00	\$450.00	\$450.00	\$1,205.00	\$1,205.00
26	15" RCP Pipe	13	LF	\$55.00	\$715.00	\$120.00	\$1,560.00	\$88.92	\$1,155.96
27	21" RCP Pipe	6	LF	\$70,00	\$420.00	\$150,00	\$900.00	\$169.65	\$1,017.90
28	Final Grading & Seeding/Sodding	1	LS	\$8,500.00	\$8,500.00	\$8,000,00	\$8,000,00	\$10,285,25	\$10,285.25
29	Maintenance of Traffic	1	LS	\$8,500.00	\$8,500.00	\$12,000.00	\$12,000.00	\$26,452.00	\$26,452.00
30	Construction Engineering	11	Ls	\$8,500.00	\$8,500.00	\$4,500.00	\$4,500.00	\$6,542.00	\$6,542.00
31	Erosion & Sediment Control	11	LS	\$13,600,00	\$13,600.00	\$4,200.00	\$4,200.00	\$4,498.65	\$4,498.65
32	Transverse marking, Thermoplastic , Crosswalk Line, White, 6	191	LF	\$2.00	\$382,00	\$6.00	\$1,146.00	\$8.50	\$1,623.50
33	Transverse marking, Thermoplastic , Stop Line 24"	43_	LF	\$6.50	\$279.50	\$14.00	\$602.00	\$20.50	\$881.50
34	HMA Patching, 18" Width	186	SY	\$125.00	\$23,250.00	\$50.00	\$9,300.00	\$68.00	\$12,648.00
35	Grind/Saw Existing Concrete Edge To Flush Grade	45	LF	\$15,00	\$675.00	\$12.00	\$540.00	\$23.00	\$1,035.00
36	Clean Existing Storm Pipes	200	LF_	\$12.00	\$2,400.00	\$10.00	\$2,000.00	\$15.90	\$3,180.00
37	Work Allowance	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the **Bluffton Road Sidewalk** award.

TABLE	•	TITI	~
RFPs	Xτ	KIII	٠.
		1111	L.

Bid/RFP#	0172N
Awarded To	Hipskind Concrete
Amount	\$200,001.50
Conflict of interest on file?	X Yes □ No n/a
Number of Registrants	8
Number of Bidders	2
Attachments	AWARD APPROVAL AND BID TAB ANALYSIS SHEET

EXTENSIONS

Date Last Bid Out	N/A
# Extensions Granted	N/A

SPECIAL PROCUREMENT

Contract #/ID (State, Federal, PiggybackAuthority)	172N
Sole Source/ Compatibility Justification	I/A

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□ No	If no, explain below		
				,	

COUNCIL DIGEST SHEET

COST COMPARISON	
Increase/decrease amount from prior years For annual purchase	N/A
(if available).	
DESCRIPTION OF PRO	OJECT / NEED
Identify need for project &	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
describe project; attach supporting documents as	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
necessary.	
REQUEST FOR PRIOR Provide justification if prior approval is being requested.	APPROVAL N/A
FUNDING SOURCE	
Account Information.	Cedit
_	

COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL Bluffton Road Sidewalk Improvements

Action Requested:

Requesting an ordinance approving the Bluffton Road Sidewalk Improvements Resolution # 0172N between Hipskind Concrete and the City of Fort Wayne in the amount of \$200,001.50 in connection with Fort Wayne Public Works.

Note: Hipskind Concrete was the lowest most responsive bidder among 2 bidders. Their bid was 16.97% lower than the engineer's estimate

Description and Scope of Work:

This project includes constructing a 5 feet wide concrete sidewalk and ADA ramps from 338 feet north of Lower Huntington Road to 788 feet south of Old Trail on the west side of Bluffton Road. Contractor will be filling in the gaps between existing sidewalks. .